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NB|FEFEAS [FH 180 1800 0 1800 10 0 0 0 3240 0 1836
& 180 1800 0 1800
1141[54R BmE 8 40 0 40 5 0 0 0 0 2376 0
[&5) 8 40 0 40
1201[83% % 39 585 0 585 15 0 0 0 1620 0 972
& 39 585 0 585
1203[F ¥Ry [HE 110 1100 0 1100 10 0 0 0 648 0 594
HE 350 5250 0 5250 15 0 0 0 0 1296 0
f=554 190 1900 0 1900 10 0 0 0 1296 0 702
ED 650 8250 0 8250
1207[FE& GD 575 71 71 0
1209 B & B 10 30 0 30 3 0 0 0 0 1620 0
GhH 10 30 0 30
1301 |FF mE 41 164 0 164 4 0 0 0 2160 0 1620
#mE 76 380 0 380 5 0 0 0 2592 0 1080
HmE 14 84 0 84 6 0 0 0 1404 0 540
(&) 143 676 0 676
1311[FRE EE 10 60 60 0 6 2268 0 432 0 0 0
S 16 64 0 64 4 0 0 0 1836 0 1404
L 30 120 0 120 4 0 0 0 1620 0 1404
(&) 56 244 60 184
1321 [HA R dLiEE 6 30 0 30 5 0 0 0 0 2160 0
BiE 105 525 0 525 5 0 0 0 2376 0 1188
[E)) 135 745 0 745
1331 [MMFH»  [RIF 5 50 0 50 10 0 0 0 0 3780 0
Eh 35 350 0 350
13B1E—<> [EE 1200 180 0 180 0.15 0 0 0 108 0 92
x5 300 45 0 45 0.15 0 0 0 0 92 0
(&) 1500 225 0 225
1353[ Tk GED 120 12 0 12
1355|455 BERS 560 56 0 56 0.1 0 0 0 76 0 70
[&0) 740 74 0 74
1371 L1 x5 65 195 0 195 3 0 0 0 1512 0 1188
Eh 65 195 0 195
1411 | (&) 150 48 12 36
1541 [ EH EE 354 3540 0 3540 10 0 0 0 1296 0 864
(&) 354 3540 0 3540
1603|)L)— [REH 7 70 0 70 10 0 0 0 0 4320 0
(&) 7 70 0 70
1609|70val)  [EF 10 60 0 60 6 0 0 0 0 3456 0
(&) 10 60 0 60
1611[LAR R 24 120 0 120 5 0 0 0 756 0 432
f=154 10 100 0 100 10 0 0 0 864 0 540
Eh 34 220 0 220
1612| 4 =L 2R |EH 30 150 0 150 5 0 0 0 756 0 540
Gh 30 150 0 150
1627|S=F<F [ED) 162 159 18 141
1705| T A= =& 540 43 0 43 0.08 0 0 0 119 0 108
= H 3 12 0 12 4 0 0 0 0 5400 0
Gh 697 83 0 83
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1803 | EHEE =) 150 15 0 15 0.1 0 0 0 0 125 0
S 600 120 0 120 0.2 0 0 0 71 0 66
GhH 1290 189 0 189
1807|8E E& 150 15 0 15 0.1 0 0 0 0 32 0
E% 330 66 0 66 0.2 0 0 0 70 0 57
EF 450 135 0 135 0.3 0 0 0 0 57 0
GhH 930 216 0 216
1809[L&HL EF 250 25 0 25 0.1 0 0 0 0 49 0
% 600 120 0 120 0.2 0 0 0 0 70 0
& 850 145 0 145
* SREET * 15593 35426 221 35205
2601|7297 |KBR 60 18 0 18 0.3 0 0 0 0 443 0
GhH 60 18 0 18
2701|7—JLR |53 2 18 0 18 9 0 0 0 0 15120 0
(&) 2 18 0 18
2731[F/N A 121 1936 0 1936 16 0 0 0 5724 0 3780
f=154 10 160 0 160 16 0 0 0 6480 0 3564
(&) 131 2096 0 2096
* EEET * 386 4264 0 4264




